pw

i e
b b N
b

pbrake system

MERITOR

series

PRODUCT CATALOG

MEYER

www.meyerbrakesystem.com



MERITOR TYPE

ELSA 1

ELSA 195-225
LISA

DX195
DX225

DUCO



MERITOR

Product Ne Name: Calibration Bolt By car: MAN 81.50802.6017-81.50802.6020- Qty.

OEM Ne MCK1102 - ST1157 NS 81.50802.6021-35.50310.9496 - RENAULT

500174
5001858717 - DAF 1522034 - VANHOOL

Reference Ne 10770779 - ZF 0501213164

[ Product description
CMSK.5 § é Caliper Pin 1
S - -
Sampa = 3 @ 35x39%30 mm C.cllper Pin 1
095.510 X % Pin Bolt ]
3 o Pin Bolt 1
Cheeft g 3 ‘ ' Ly Dust Cover 2
2067 N Bushing 1
Avtech @ 40x37/35x33 mm Bushing ]
MO0085 Bolt. Plug : 2
’ Caliper Ring 2
a Caliper Ring 2
Caliper Ring 2
@ 48x37x14 mm g By gy g @ 44x28,5 mm
@ 39x37/36x15 mm = =
@ 43x37x14,5 mm
Product Ne Name: Caliper Guide & Repair Kit By car: MAN 81.50802.6022 Qty.
532875 OEM Ne MCK1103 ELSA 1 SERIES = Product description
Cadliper Pin 1
Cadliper Pin 1
T -
> S Pin Bolt 1
CMSK.23 8 8 Dust Cover 1
Sampa = o Bushing 2
W = Q
095.603 %, = @ Bolt Plug 1
pem—— 3 3 X Cdliper Ring 1
ee g 2 & Rubber Bush 2
2141 = § Caliper Ring 2
Avtech @ 35x39 x 30 mm é:
M0047
®40x31x20 mm ‘ ‘ &@44x285mm
@ 39x37/36x15 mm
Product Ne Name: Calibration Gear L By car: Qty.

500114 OEM Ne ELSA 1 SERIES = Product description

—

Calibration Shaft Gear
T
Plug 2

Sampa
Cheeft
2078

Avtech

8  www.meyerbrakesystem.com brake sysiem



Product Ne Name: Caliper Guide & Bush Repair Kit By car: MAN 81 50802 6016 -

509744 OEM Ne ST1156 TRy 2°-0031.09502 - RENAULT 5001 849

886 - VANHOOL N508026022 - ZF 0501

T

211 883
Product description

CMSK.5.5 Dust Cover 2
Sampa

095.707

Cheeft

2069

Avtech

MO0097

Product Ne Name: Shim For Calibration Gear By car: MAN 81.50822.0006 - RENAULT Qty.

500172 OEM No 68321678PK10 ENEEEY 00! 318076
Product description
T Shim For Calibration Gear 1
CMSK.5.4
Sampa
095.085
Cheeft
2079
Avtech
MO00%6

Product Ne Name: Calibration Gear R By car: Qty.

509766 OEM Ne ELSA 1 SERIES = Product description

Calibration Gear R 1

T

Sampa
Cheeft
2075
Avtech
MO167

@ 35mm

Product Ne Name: Calibration Gear L By car: Qty.

509767 OEM Ne ELSA 1 SERIES = Product description

T

Calibration Gear L

Sampa
Cheeft
2076
Avtech
MO0168

brake system www.meyerbrakesystem.com )



Product Ne Name: Calibration Shaft Gear By car: Qty.

509764 OEM Ne ELSA 1 SERIES = Product description

Reference Ne Calibration Shaft Gear 1

T

Sampa

Cheeft

@ 35 mm

Avtech

Product Ne Name: Calibration Gear R By car: Qty.

500171 OEM Ne ELSA 1 SERIES = Product description
Cailibration Gear R 2
T Calibration Shaft Gear 1
Plug 2
CMSK.5.7
Sampa

096.806
Cheeft
2077
Avtech
MO0099
%] m @ 35 mm

@35mm

Product Ne Name: Calibration Gear R By car: Qty.

509768 OEM Ne ELSA 1 SERIES = Product description

Calibration Gear R 1

Reference Ne

T

Sampa
Cheeft
2215

Avtech

@ 37,5mm

&8  www.meyerbrakesystem.com brake sysiem



Product Ne Name: Calibration Gear L By car: MAN 81.50822.6026 - BPW Qty.

509769 OEM Ne NS 09.801.07.05.0 - MERCEDES 000 420 4182

Product description

Reference Ne
T

Calibration Gear L 1

Sampa
Cheeft
2216

Avtech

@ 37.5mm

Product Ne Name: Calibration Shaft Gear By car: Qty.

510705 OEM Ne ELSA 1 SERIES = Product description
(G EE S Calibration Shaft Gear ]
1T

Sampa

Cheeft

@ 37,5mm

Avtech

Product Ne Name: Caliper Leveller R By car: Qty.
500168 OEM Ne ELSA 1 SERIES = Product description

T Ball Bearing 1
Sampa ? E

Cheeft

Avtech

Product Ne Name: Caliper Leveller L By car: Qty.

500167 OEM Ne ELSA 1 SERIES = Product description

Calibration Bolt 1
T ? Calibration Bolt 1
Sampa E

Cheeft

Avtech

brake system www.meyerbrakesystem.com &5



Product Ne Name: Caliper Spring R By car: Qty.

500160 OEM Ne ELSA 1 SERIES = Product description

Reference Ne Caliper Spring R ]

—
_|I

CMSK.5.12
Sampa
095.811
Cheeft
2080
Avtech
MO0089

Product Ne Name: Adjusting Mechanism By car: Qty.

512566 OEM Ne ELSA 1 SERIES = Product description

T Spring 1
Washer Small 5

CMSK.5.8 Washer Small 4

Sampa Washer Double Side 1

Cheeft

2074

Avtech

MO0100

Product Ne Name: Caliper Spring L By car: Qty.

500158 OEM Ne ELSA 1 SERIES = Product description

Reference Ne Caliper Spring L 1

T
CMSK.5.11
Sampa
095.810
Cheeft
2081
Avtech
MO0088

8  www.meyerbrakesystem.com brake sysiem



Product Ne Name: Roller Bearing Set By car: VOLVO 3092329 - DAF Qty.

500170 OEM Ne §J4112 ELSA 1 SERIES MREZZARE
Product description

Calibration Gear L 1

Reference Ne
T

CMSK.3.3
Sampa
095.674
Cheeft

2070

Avtech

MO0075

Product Ne Name: Mechanism Clutch System R By car: Qty.
500090 OEM Ne ELSA 1 SERIES = Product description

Reference Ne Mechanism Clutch Systems R 1
T

Sampa

Cheeft

Avtech

Product Ne Name: Mechanism Clutch System L By car: Qty.

500088 OEM Ne ELSA 1 SERIES = Product description
Reference Ne Mechanism Clutch Systems L ]
T

Sampa

Cheeft

Avtech

Product Ne Name: Caliper Repair Kit By car: Qty.

510706 OEM Ne ELSA 195-225 SERIES = Product description

T

Sampa

Cheeft

Avtech
MO0139

brake system www.meyerbrakesystem.com &5



By car: VOLVO 85107912 - RENAULT

Product Ne Name: Caliper Guide & Repair Kit

500165 OEM Ne MCK1140 - MCK1243 ELSA 195-225 SERIES [ e A A o
- 35.40311.2205 LECINENA 5820184 -
IVECO 42555201 - PACCAR 1522058 - ZF
7 z 0501 215 220
CMSK.26 % § Product description
Sampa g ;; B Col!per Pin 1
095.576 g 3 i‘; 5;0 Caliper Pin 1
Cheeft 3 3 A -3 Pin Bolt 1
0133 ¥ M16x1,5x40 mm W 7l Bl !
Pin Bolt 1
Avtech ° Pin Bolt 4
MO0063 Bushing 2
[\/ i Bushing 1
y § Bolt Plug 2
@ 44x28 mm f\/ ‘ ‘ Caliper Ring 2
4 Dust Cover 2

@ 31-33x42x30 mm @ 35x39x30 mm

Product Ne Name: Caliper Repair Kit By car: Qty.

512490 OEM Ne ELSA 195-225 SERIES = Product description

Reference Ne Bushing

T 7 Tappet 2
CMSK.7.7 ‘ > ‘; ,
Sampa I !

095.579
Cheeft
2189
Avtech
MO119

N

Product Ne Name: Calibration Mechanism Set By car: Qty.

500148 OEM Ne ELSA 195-225 SERIES ~ Product description

Calibration Mechanism Cover 1
T Calibration Mechanism 1
Mechanism Gear 2
- Bolf 8
Sampa Gasket 1
Cheeft
2224
Avtech
MO147

€3  www.meyerbrakesystem.com brake sysiem



Product Ne Name: Calibration Mechanism Cap By car: Qty.

509745 OEM Ne ELSA 195-225 SERIES = Product description
T

CMSK.7.5

Sampa

Calibration Mechanism Cover 1

Cheeft
2136
Avtech
MO117

Product Ne Name: Calibration Mechanism Cap By car: Qty.
510775 OEM Ne ELSA 195-225 SERIES © Product description

T

Calibration Mechanism Cover 1

Sampa

Cheeft

Avtech

Product Ne Name: Gasket By car: Qty.

509777 OEM Ne ELSA 195-225 SERIES ~ Product description

T

Sampa

Cheeft

Avtech
MO0156

Product Ne Name: Calibration Mechanism By car: Qty.

500146 OEM Ne ELSA 195-225 SERIES = Product description
Reference Ne Calibration Mechanism ]
1T

Sampa
096.177
Cheeft
2134
Avtech
MO144

brake system www.meyerbrakesystem.com



Product Ne Name: Calibration Mechanism Gear By car: Qty.

500145 OEM Ne ELSA 195-225 SERIES = Product description
Mechanism Gear ]
T
CMSK.7.6
Sampa
095.807
Cheeft
2135
Avtech
MO0145

Product Ne Name: Calibration Gea R (Manual) By car: Qty.

500144 OEM Ne ELSA 195-225 SERIES = Product description

Calibration Gear R 1

T Spring 1
CMSK.7.11.4

Sampa o
095.928

Cheeft

2138

Avtech

MO112

Product Ne Name: Calibration Gea L (Manual) By car: Qty.

500092 OEM Ne ELSA 195-225 SERIES = Product description

Calibration Gear L 1

T Spring 1
CMSK.7.11.3
Sampa
095.929
Cheeft

2137
Avtech
MO111

Product Ne Name: Roller Bearing Set By car: VOLVO 3092329 - DAF 1522169 Qty.

500170 OEM Ne $J4112 ELSA 195-225 SERIES = Product description

Roller Bearing Set
Bushing
Ball Bearing 2

—

Reference Ne
T

CMSK.3.3
Sampa
095.674
Cheeft

2070

Avtech

MO0075

N

8  www.meyerbrakesystem.com brake sysiem




By car: VOLVO 21392594 - RENAULT

Product Ne Name: Caliper Guide & Repair Kit

512488 OEM Ne MCK1254 - MCK1323
Reference Ne

TINTEIETEl 5001 866 560 - FODEN 0871054 - MAN
2G070160007

Product description

T
Caliper Pin ]
Chle z z Caliper Pin 1
Sampa = = S S Bushing 1
x o
095.512 g = = ¢ Ring !
x — o
Cheeft = 3 %O N P!n Bolt 1
2 3 3 3 PinBolf 1
2063 g 3 M14x1,5x40 mm Bolt Pug 4
Avtech Pin Bolt 2
MO107 Dust cover 1
Bushing 2
N -
@ 44x20 mm s @ 37x40x11 mm
S~ | 2 ] . - ._',
@ 31-33x42x30 mm  D35x39x30 mm
Product Ne Name: Caliper Guide & Repair Kit By car: VOLVO 85109890 - RENAULT 5001  Qity.

500050 OEM No MCK1298 ELSA 195-225 SERIES [RCERCHN SRR AUE)

Product description
T Caliper Pin ]
CMSK.26.1 £ Caliper Pin 1
= S s Pin Bolf 1
Sampa ; g g Pin Bolt 1
095.574 g g = & Pin Bolf 4
Cheeft g = > = PinBolf 4
3 3 Dust cover 2
2065 M16x1,5x40 mm  M14x1,5x40 mm . 3 Bushing 2
Avtech Bushing 1
MO161 Ring 2
e { z .’ Bolt Pug 2

x20 mm = - I -

@ 31-33x42x30 mm B35x39x30 rmm

brake system www.meyerbrakesystem.com &)



Product Ne Name: Caliper Guide & Repair Kit By car: Qty.

500065 OEM Ne MCK1317 ELSA 195-225 SERIES = Product description

T z Qoliper Pin ]

e B Pin Bolt 2
CMSK.26.2 = 3 Q Pin Bolt 4
Sampa o & o Dust cover 2

M Ny ! .
095.680 x| =z ‘& | Ring 2
Cheeft 3 3 3 = Bushing 2

3 3 3 Bushing 2
2247 x39x30 mm  M14x1,5x40 mm 3 Bolt Pug 5
Avtech
MO173 P

& tup)
@ 44x20 mm A @ 37x40x11 mm
& ==

@ 31x33x42x30 mm

Product Ne Name: Caliper Repair Kit By car: Qty.

509722 OEM Ne ELSA 195-225 SERIES = Product description
1T
CMSK18

Sampa
095.513
Cheeft
2142
Avtech
MO0021

Product Ne Name: Calibration Mechanism Set By car: VOLVO 3092329 - DAF 1522169 Qty.

516103 OEM Ne ELSA 195-225 SERIES = Product description

Calibration Mechanism Cover 1
7 Calibration Mechanism 1
Mechanism Gear 2
} Gasket 1
Sampa Bolt 8
Cheeft
2225
Avtech
MO0172

8  www.meyerbrakesystem.com brake sysiem



Product Ne Name: Calibration Mechanism Set By car: Qty.

500106 OEM Ne ELSA 195-225 SERIES = Product description
Calibration Mechanism Cover 1
T
Sampa
Cheeft
2197
Avtech @
MO159
Product Ne Name: Caliper Guide & Repair Kit By car: RENAULT 5001 858 717 - DAF
500164 OEM Ne MCK1086 ENNEEEREEY 022185 - ERF 35.50307.5532 - MAN
2G002950002
-
- < Product description
] < Caliper Pin 1
ClEs 2 § 8 Q Caliper Pin 1
sampa o o % PinBolt 1
095.575 o E R = PinBolt 1
Cheeft el E !’ = S PinBolt I
3 3 Bushing &
2214 @ 16x1,5%40 mm Bolt Pug 2
Avtech Washer 2
MO0127 Dust cover 2
I\ = 7 Pin Bolt 1
,/'
@ 35x39x30 mm
Product Ne Name: Indicator Bar By car: VOLVO 85109893 Qty.
525123 OEM Ne MCK1311 ELSA 195-225 SERIES = Product description

T
CMSK.3.13
Sampa
095.681
Cheeft
2227
Avtech
MO163

brake system www.meyerbrakesystem.com



Product Ne Name: Caliper Leveller By car: Qty.

500086 OEM Ne ELSA 195-225 SERIES ~ Product description
Ball Bearing 2

T

Sampa

Cheeft

Avtech

Product Ne Name: Caliper Leveller By car: Qty.

521081 OEM Ne ELSA 195-225 SERIES = Product description
Ball Bearing 2
T
Sampa
Cheeft
Avtech
Product Ne Name: Caliper Leveller By car: Qty.
517517 OEM Ne ELSA 195-225 SERIES = Product description
T Ball Bearing 2
Sampa
Cheeft
Avtech

Product Ne Name: Caliper Seal By car: VOLVO 20706975 - ERF Qty.

500111 OEM No 68323746PK10 TN 35503075642 - IVECO 5006028416 - MAN
81.50901.0015 PACCAR 0868304 - ZF 0501

Reference Ne
T

CMSK.7.2
Sampa

322 343

Product description

Caliper Seal 1

Cheeft
2200
Avtech
MO115

8  www.meyerbrakesystem.com brake sysiem



Product Ne Name: Caliper Guide & Repair Kit

500162 OEM Ne $J4076 - MCK1104

By car: RENAULT 5001 837 006 - VOLVO Qty.

TN 3098108 - 85103129 - DAF 1522184
DENIS 6553777 - 6565644 - DEP101807

m - Product description
Caliper Pin ]
CMSK.13 Caliper Pin 1
Sampa = £ Pin Bolf 1
o o o
095.622 ja X S Q Pin Bolf 1
Cheeft % g Zal”0 T ® & Dust Cover 2
@ 3 | & @ Bushing 2
o 3 1 2] 5 i
2128 3 3 3 3 Bushing 2
Avtech 3 ) 3 = Bushing 1
@ 35-36x39x47 mm
MO0012 ’ Bolt Plug 2
‘ ‘ Caliper Ring 2
\““" N
e c—2a @ 45x17 mm
L — S~
@ 37x47x14 mm
@ 35x30x41mm
Product Ne Name: Caliper Gasket Set By car: NISSAN 069029770 Qty.
500107 OEM Ne $J4061 LISA SERIES = Product description
T Seal 1
Cap Metal 1
CMSK.54.1 el 1
Sampa 7 "—\ Plastic Cover 1
095.716 ' 3 O-Ring 1
Cheeft V Dust Cover 1
e Dust Cover 2
2152
o 8
Avtech \
MO196 .
Product Ne Name: Caliper Shaft Set R By car: NISSAN 062030040 - VOLVO Qty.
500113 OEM Ne MCK1022-MCK1152 TN 85104828 - DENNIS 6553784

Product description

i Opreration Shaff R
CMSK.12.V Fixed Ramp R
Sampa Anti Rotation Pin
095.700

Cheeft

2223

Avtech

MOO11

brake system www.meyerbrakesystem.com &)

— || =] —




Product Ne Name: Caliper Shaft Set L By car: NISSAN 069029750- VOLVO

500114 OEM Ne MCK1021-MCK1151 TNl 85104827~ DENNIS 6553776
Opreration Shaft L

1
Fixed Ramp L

CMSK.11.V
Ball
Sampa Anti Rotation Pin
095.699
Cheeft
2222

Avtech
M0008

Product description

—|w| =] —

Product Ne Name: Mechanism Gear R By car: VOLVO 3098111 - DENNIS Qty.

500084 OEM Ne $J4074 LISA SERIES [ISSERLEH

Product description
T Adjusting Gear R 1
CMSK15.1 Spring 1
Sampa
095.704
Cheeft
2130
Avtech
M0015

Product Ne Name: Mechanism Gear L By car: VOLVO 3098110 - DENNIS Qty.
500083 OEM Ne $J4073 LISA SERIES |[EEEEALY

Product description

Adjusting Gear L 1
Spring 1

Reference Ne

=
_'I

CMSK.15
Sampa
095.703
Cheeft
2129
Avtech
MOO014

By car: DENNIS 6553779 - 6553778 -

Product Ne Name: Caliper Bearing Ring Set

500067 OEM Ne $J4031 IV NISSAN 069029760 - VOLVO 8550893

Reference Ne Product description

T ’ ‘ Bearing 1
N g Washer 1

MSK.14
CMS N Bushing 1
Sampa Bearing 3
095.698 Caliper Ring 1

Cheeft

2196
Avtech
MO0013

(8  www.meyerbrakesystem.com brake sysiem




Product Ne Name: Adjusting Mechanism R By car: VOLVO 3092764 - DENNIS

500080 OEM Ne $J4114 IYNEIEY DEP100074 - NISSAN 069030020 -
LEYLAND LBSJ4114

Reference Ne
T

Product description

Mechanism R 1
CMSK.10 Saiiie :
Sampa - Gear Small 1
095.711
Cheeft
2132
Avtech
MO002
Product Ne Name: Adjusting Mechanism L By car: VOLVO 3092763 - DENNIS Qty.
500077 OEM Ne SJ4113 TN = DEP100073 - NISSAN 069029730 - LEYLAND
XBU1066
Product description
m Mechanism L 1
CMSK.10.2 Spring 1
Sampa Gear Small 1
095.688
Cheeft
2131
Avtech
M0003
Product Ne Name: Caliper Guide & Repair Kit By car: DAF 1489989 - RENAULT 5021 170 Qty.
2799440 FRUEHAUF CF104387
-
Q Product description
m S : -% Caliper Pin 1
o e X X Q
CMSK.8 Y & g- SEFC  Caiper Pin 1
Sampa & & & % $  Pin Bolt 1
095.515 P € 3 S G Pin ol 1
Cheeft % Bushing 2
Bolt Plug 2
2048 Gasket 1
Avtech Big Dust Cover 2
MO122 \'- Smalll Dust Cover 2
Cover Seal 2
@ 42x28 mm _/ Discharging Bolt Washer 1
Pin Bolt 2
Pin Bolt 2
Pin Bolt 4
1

8 B 11 && Pin Bolt

M12x1,75x30 mm M12x1,75x20 mm  M8x1,25x20 mm  M10x1,5x20 mm

brake system www.meyerbrakesystem.com i)



Product Ne Name: Caliper Guide & Repair Kit By car: DAF 1489991 - RENAULT

500062 OEM Ne MCK1192 SRR ©02! 170 886 - ASTRA 98133544AS
- CATERPILLER 2799674 FRUEHAUF
) CF104388 - SCANIA 1034001
m Y B Product description
CMSK.2.1 H B . i :
Sampa g § ’ [\s../; R = Pin Bolt 1
095.516 3 ‘g" J -/; Bolt Plug 2
@ 42x28 mm J Big Dust Cover 2
SIEe Smalll Dust Cover 2
2047 Cover Seal 2
Avtech
M0027

Product Ne Name: Caliper Plate Repair Kit R By car: Qty.

530405 OEM Ne DX195 SERIES = Product description

T Caliper Bolt R 2
Plate 1

CMSK.9.2

Sampa

095.779

Cheeft l '

2053

Avtech A i

MO124

Product Ne Name: Caliper Plate Repair Kit L By car: Qty.

530406 OEM Ne DX195 SERIES ~ Product description
Caliper Bolt 2

Reference Ne
Caliper Bolt L 2
Plate 1

CMSK.9.1

Sampa

095.780

Cheeft ‘ ‘

2054

Avtech . A > §
«e SRy

=
_'I

MO125

Product Ne Name: Adjusting Mechanism Set R By car: FRUEHAUF CF104620 Qty.

502394 OEM Ne DSL5R DX195 SERIES = Product description
Adjusting Mechanism R 1
T Spring 1
Green Seal 2
CMSK.2.E Circlip 2
Sampa Wavy Washer 2
1

096.670 7 Q 7 Pin
Cheeft = (
@, = i

2240

Avtech

F8  www.meyerbrakesystem.com brake sysiem



Product Ne Name: Adjusting Shaft Kit By car: VOLVO 3092329 - DAF Qty.

500100 OEM Ne §J4112 DX195 SERIES MREZZALCH
Product description
O
Crank 1
m Sedal 1
CMSK.2.GR Bearing 2
Sampa
119.101 )
Cheeft =
2049 :
Avtech
M0026
Product Ne Name: Caliper Bearing Set By car: CATERPILLER 3429202 - ASTRA

RISl 78133545AS - BREDAMENARINIBUS
0193107 FRUEHAUF CF104618

532090 OEM Ne MCK1344

-
p Product description
Bearing 2
B Caliper Bearing 1
Sampa Bushing 1
Cheeft
1194
Avtech g
Product Ne Name: qulper Bearing By car: Qty.

500108 OEM Ne DX195 SERIES ' Product description

T

Sampa
Cheeft
2050

Avtech

Product Ne Name: Caliper Bridge Assembly By car: Qty.

500101 OEM Ne DX195 SERIES = Product description
Caliper Bridge Assembly 1

Reference Ne
T

CMSK.19.1
Sampa

Cheeft
2194
Avtech
M0023

162,50 mm

brake system www.meyerbrakesystem.com  [{E



Product Ne Name: Adjusting Shaft Kit By car: Qty.

500100 OEM Ne DX225 SERIES ' Product description

T Seal 1
Bearing 2

CMSK.2.GR

Sampa

119.101 ) [

Cheeft

2049 ‘

Avtech

M0026

Product Ne Name: Caliper Bearing Set By car: FRUEHAUF CF104618 - ASTRA

532090 OEM Ne MCK1344 DRI 78133545AS - CATERPILLAR 3429202
BREDAMENARINIBUS 0193107

o

p Product description
Bearin 2

CMSK.2.D Caliper Bearing 1

Sampa Bushing 1

096.668

Cheeft

2242

Avtech

M0030

Product Ne Name: Caliper Bearing By car: Qty.

500108 OEM Ne DX225 SERIES  Product description

Reference Ne Bearing ]

T

Sampa
Cheeft
2050

Avtech

Product Ne Name: Caliper Gasket Set By car: vOLVO 309566 Qty.

65691 OEM Ne MCK1041 DUCO SERIES ' Product description

T Small Seal 1
Big Seall 1
; Plastic Plug 1

Sampa °
Cheeft

1194

Avtech

(I8  www.meyerbrakesystem.com brake sysiem



By car: VOLVO 85102094 - 3092255 -

Product Ne Name: Caliper Guid & Bush Repair Kit

3095627 - 85103892 RENAULT 5021 202

500150 OEM Ne MCK1134 - MCK1116 - SJ4094 DUCO SERIES
776 - DAF 1489198 - 1489197
T Product description
CMSK.3.1 z z Caliper Pin ]
N 5 Q Caliper Pin 1
Sampa < g N Q '8 Pin Bolf 1
095.604 = & oS 8 ¢ | Pin Bolf 1
13 (;' X x,
Cheeft 3 g & S g Dust Cover P
2285 s ‘ 5 3 3 Bushing 5
‘ Plastic Bushing 1
Avtech @ 35-36x39x30 mm Bolf Plug 2
MO0066 Ring 2
@ 40x19,5 mm i ‘ ° O @ 37x40x11 mm
Product Ne Name: Caliper Guid & Bush Repair Kit By car: VOLVO 85102092 - 3092256 - Qty.
509724 OEM Ne MCK1135 - MCK1118 - $J4107  DUCO SERIES [RSSAZAERREBICEEEARRETAUR S22 s
Product description
T Caliper Pin 2
) z Pin Bolf 2
N | Dust Cover 2
Sampa S S | Bushing 2
095.630 5 81 5 Plastic Bushing 1
Cheeft 3 g‘ gl Bolt Plug 2
3 -
i z g ; Ring 2
Avtech ' 3
MO130 @ 35-36x39x30 mm

-

<
@ 40x19,5mm 3 ‘ ‘

Product Ne Name: Caliper Guid & Bush Repair Kit

500152 OEM Ne MCK1299 DUCO SERIES
FODEN Y07100312

Product description

S
G @ 37x40x11 mm

By car: VOLVO 85107718 - 3095628
- 3095628 - 3096769 - DAF 1522170 -

" Calliper Pin 1
CMSK.3.14 z L Pin Bolt 2
Sampa N N Q Pin Bolt 1
095.628 ® 5 1 Dust Cover 2
N s Q Bolt Plug 2
Cheeft - = N
3 3
2264 3 3
Avtech

MO071

\ 1 ‘ 1 ‘ ‘

@ 40x19,5 mm

brake system www.meyerbrakesystem.com {5



Product Ne Name: Dust Cover Set By car: VOLVO 85107913 - 3092272 - ZF

510765 OEM Ne MCK1139 - 68324854PK10 o= 0001 215022 - DAF 1522170 - 1487339 -

[VECO 5006028414 MAN 81.50802.6024

- N2509990263 - PACCAR 9500643 - ERF
TT 35.40311.2182 IRISBUS 503128757 -
S RENAULT 5021 179 952

Product description

Product Ne Name: Caliper Repair Kit By car: Qty.
510706 OEM Ne DUCO SERIES = Product description

T

Sampa
095.513
Cheeft
2142
Avtech
M0021

Sampa

- ‘ ‘
Avtech

MO0139

Product Ne Name: CalibrationMechanism Set R By car: VOLVO 3092263 - 3095642 Qty.
510707 OEM Ne MCK1237 - MCK1239 DUCO SERIES = Product description

Reference Ne

Adjusting Mechanism R
Dust Cover
Circlip
CMSK.4.2 Caliper Plug
Sampa Plastic Bushing
095.672 @ 63,5x45x11,5 mm Seal
45x49x31 mm
Cheeft

2114
Avtech
MO0083

Product Ne Name: Caliper Guid & Bush Repair Kit By car: Qty.

=
| I
I

NNNNNN

510710 OEM Ne MCK1065 - MCK1066 DUCO SERIES = Product description
T Dust Cover 2
Bolt Plug 2
Sampa i
£ -
) ' E N — N
Cheeft i g @ 40x19,5 mm
3
_ s
Avtech

l

(M  www.meyerbrakesystem.com brake sysiem




Product Ne Name: CalibrationMechanism Set L By car: VOLVO 3092262 Qty.

510709 OEM Ne MCK1236 DUCO SERIES = Product description
Adjusting Mechanism L 2
- Dust Cover 2
Circlip 2
CMSK.3.2 Caliper Plug 2
Sampa Plastic Bushing 2
095.671 seal 2
Cheeft
(25 63,5 45 11,5
2113 @ 45x49x31 mm e mm
Avtech
M0074 ° ‘
Product Ne Name: Caliper Leveller By car: VOLVO 85109977 - 3092260 - Qty.
527671 OEM Ne $J4108 - MCK1400 DUCO SERIES [RCANISZESRR I ALY
Product description
- Ball Bearing 2
Bushing 2
Roller Bearing Kit 1
Big Seall 1

Avtech

Sampa ‘
Cheeft

Product Ne Name: Roller Bearing Set By car: VOLVO 3092329 - DAF 1522169 Qty.

500170 OEM Ne $J4112 DUCO SERIES ' Product description

Reference Ne Ball Bearing
T Bushing

Ball Bearing 2
CMSK.3.3

Sampa
095.674
Cheeft
2070
Avtech
MO0075

—

N

brake system www.meyerbrakesystem.com




Product Ne Name: Calibration Mechanism Front R-L By car: VOLVO 3092267 - 3095628 Qty.
509738 OEM Ne MCK1113 - SJ4110 DUCO SERIES = Product description

Adjusting Mechanism R-L 1

Reference Ne

- Smalll Seal 1

Big Seal 1

Sampa
Cheeft
2116
Avtech
MO0135

Product Ne Name: Calibration Mechanism Rear L By car: VOLVO 85107718 - 3095628 - Qty.
500154 OEM Ne $J4102 - MCK1111 DUCO SERIES AR e
Reference Ne Product description

i Adjusting Mechanism L 1

CMSK.3.16 Small Seall ]

Sampa
030.590
Cheeft
2119
Avtech
MO0072

Product Ne Name: Calibration Mechanism Rear R By car: VOLVO 3092266 - 3095628 - Qty.
500156 OEM Ne $J4103 - MCK1112 DUCO SERIES [RARadls
Reference Ne Product description

T Adjusting Mechanism R 2

CMSK.3.17 Small Seal 5

Sampa
030.591
Cheeft
2118
Avtech
MO0073

Product Ne Name: Caliper Leveller R By car: FRUEHAUF CF104620 Qty.

510711 OEM Ne DSL5R DUCO SERIES = Product description

Reference Ne Bushing 2

T ' ' Ball Bearing 2

Sampa

Cheeft

Avtech

(B  www.meyerbrakesystem.com brake sysiem



Product Ne Name: Caliper Leveller R By car: Qty.

509778 OEM Ne DUCO SERIES

Reference Ne
T

Product description
Bushing 2

v v Ball Bearing 2

Product Ne Name: Caliper Leveller Kit By car: Qty.

527670 OEM Ne DUCO SERIES = Product description

Reference Ne Bearing 2
T Caliper Bearing 2

Sampa ﬁ i ' '

095.724
Cheeft

Sampa

Cheeft

Avtech

Avtech

Product Ne Name: Caliper Gasket Set By car: VOLVO 85107718 - 309562 Qty.
509775 OEM Ne $J4105 - 68322774PK4 DUCO SERIES = Product description

Gasket
Small Seal
Big Seal

CMSK.3.7 Plastic Plug
Sampa °

095.678

Cheeft

2125

Avtech

MO0080

Product Ne Name: Caliper Gasket Set By car: VOLVO 3092270 - DAF 1522168 Qty.

Reference Ne

=
_'I

—=| = =] =

509734 OEM Ne $J4109 DUCO SERIES = Product description

T ° & Small Seal 1
Big Seal 1

CMSK.98.2 Plastic Plug 1

Sampa °

095.677
Cheeft
2124
Avtech
MO131

brake system www.meyerbrakesystem.com )




Product Ne Name: Caliper Repair Kit By car: VOLVO 3092264 - DAF 0868378 Qty.
509726 OEM Ne MCK1238 SCPHEY ~ RENAULT 5021 202 828

Product description
T Caliper Plug 2
Dust Cover 2
CMSK.3.5 Circlip 5

Sampa
095.514
Cheeft

2112
Avtech
MO0078

Product Ne Name: Caliper Gasket Set By car: VOLVO 309566 Qty.

65691 OEM Ne MCK1041 DUCO SERIES
Product description

T a‘ Gasket 1

CMSK.56.7 Sifell el !
Big Seal 1

SElZe ° Plastic Plug ]

095.676

Cheeft

2126

Avtech

M0103

Product Ne Name: Caliper Repair Kit complette R Rear By car: Qty.

500094 OEM Ne D3 SERIES  Product description

Spline Shaft Rear - R
Bearing Housing - R
Adjusting Gear Big - R
Adjusting Gear Small

Reference Ne
T

Sampa Ball Bearing Set
096.818 Roller Bearing)
Cheeft sDr:::r: Cover
2087 Adjusting Bolt
Avtech Screw Rubber
MO141 Bushlng

Plastic Cap - Big
Plastic Cap - Small
Spring Big - L
Spring - Smalll - R

. 26 Teeth

M10x1,5x50 mm

= =] =] =] =] =] = =] =] =] =] =] =] -] —

@ 50 x 55 x 20 mm
7~

)

www.meyerbrakesystem.com prake system



Product Ne Name: Caliper Repair Kit complette L Rear By car: Qty.

500097 OEM Ne D3 SERIES

Product description

Reference Ne Spline Shaft Rear - L

1

TT C= Bearing Housing - L 1

_ Adjusting Gear Big - L 1

Sampa 26 Teeth g«olljlugflng GesctrTSmoll :
096.819 all Bearing Se

Roller Bearing) 1

Cn2ci Dust Cover 1

2086 1

Avtech 1

MO151 :

1

1

1

1

Shim

Adjusting Bolt

Screw Rubber

Bushing

Plastic Cap - Big

Plastic Cap - Small
@ Spring Big - R

Spring - Smalll - L

Product Ne Name: Caliper Repair Kit complette R Rear By car: Qty.

500098 OEM Ne D3 SERIES ~ Product description

Spline Shaft Front - R
Bearing Housing - R
Adjusting Gear Big - L
Adjusting Gear Small

@ 50 x 55 x 20 mm

M10x1,5x50 mm

Reference Ne
T e

Sampa Ball Bearing Set

096.820 Roller Bearing)

Cheeft DU.ST Cover
Shim

2085 Adjusting Bolt

Avtech Screw Rubber

MO140 Bushing

Plastic Cap - Big
Plastic Cap - Small
Spring Big - L
Spring - Small - R

@50x55x20mm

M10x1,5x50 mm

S

brake system www.meyerbrakesystem.com )



Product Ne Name: Caliper Repair Kit By car:

500099

Reference Ne
T

Sampa
096.821
Cheeft
2084
Avtech
MO0150

OEM Ne D3 SERIES

\./
26 Teeth

(2550x55x20mm

S

Product description

Spline Shaft Front - L
Bearing Housing - L

M10x1,5x50 mm

Adjusting Gear Big - R
Adjusting Gear Small
Ball Bearing Set
Roller Bearing)

Dust Cover

Shim

Adjusting Bolt

Screw Rubber
Bushing

Plastic Cap - Big
Plastic Cap - Smalll
Spring Big - R

Spring - Small - L

= = = = =] =] =] =] =] =] =] —=]—=|—]—

Product Ne Name: Calibration Mechanism Rear R

500075
Reference Ne

OEM Ne $J4011 - SJ4012 - MCK1213 D3 SERIES

By car: MAN 81.50802.6008 -

81.50802.6009 - RENAULT 5001 822 998
- 5001 822 994 DENNIS 65507911

€ Product description
m g [ =
E S Caliper Pin 1
CMSK.1 = 3 @ 32x36x42 mm g £ Caliper Pin 1
Sampa il B *® @ ~ [ Pin Bolt 1
095.623 - . q B Pin Bolt ]
s vid o Dust Cover 2
e S
Clizeti 32-33x36x30 mm il P Bushing 9
2083 &P S o Bushing 1
Avtech @37x11 mm Bolt Plug 2
MO0O] — Dust Cover 2
L
@ 32x61x19 mm -
Product Ne Name: Shaft Gear Spline Front R By car: Qty.
509770 OEM Ne D3 SERIES ~ Product description
26 Teeth Spline Shaft Front - R 1
Bering Housing - R 1
T
CMSK.29
Sampa
095.796
Cheeft
2089
Avtech
MO0065

www.meyerbrakesystem.com

brake system



Product Ne Name: Shaft Gear Spline Front L By car: Qty.

509774 OEM Ne D3 SERIES

froduct descripfion
(]
SICIENCE 1S 26 Teeth Spline Shaft Front - L 1

TT ‘o

CMSK.28
Product Ne Name: Shaft Gear Spline Rear R By car: Qty.

Sampa

095.795

Cheeft

510769 OEM Ne D3 SERIES ' Product description
T 26 Teeth

2088

Bering Housing - L 1

Avtech
MO0064

Spline Shaft Rear- L 1
Bering Housing - R 1

Sampa
Cheeft
2093
Avtech
MO0142

Product Ne Name: Shaft Gear Spline Rear L By car: Qty.

510771 OEM Ne D3 SERIES = Product description

- 26 Teeth Bering Housing - L 1
Sampa .

Cheeft
2092
Avtech
M0143

Product Ne Name: Shaft Gear Spline Front R By car: Qty.

500116 OEM Ne D3 SERIES  Product description

Spline Shaft Rear- R 1
Bering Housing - R 1

Reference Ne
T

CMSK.25
Sampa
095.794
Cheeft

2091

Avtech

MO0058

48 Teeth

brake system www.meyerbrakesystem.com 5§



Product Ne Name: Shaft Gear Spline Front L By car: Qty.

500117 OEM Ne D3 SERIES ' Product description
Spline Shaft Rear- L 1
= 48 Teeth Bering Housing - L 1

CMSK.24

Sampa
095.793
Cheeft
2090

Avtech

M0048

Product Ne Name: Caliper Adjusting Kit L By car: Qty.
531626 OEM Ne D3 SERIES ' Product description

Reference Ne Adjusting Gear-Small

T ' Scre Rubber
Shim
CMSK.24.5 O Spring-Smaill L

—_ | =] =] =] =

Sampa Adjusting Bolt
095.799 %
Cheeft o
2
2244 2
Avtech g
MO0053

Product Ne Name: Adjusting Gear R By car: Qty.

500104 OEM Ne D3 SERIES ~ Product description

- Washer - Big 4
Washer 3

CMSK.25.3 Spring Housing 1

Sampa

- OO0
2185
Avtech
OOO0O

Product Ne Name: Adjusting Gear L By car: Qty.

500105 OEM Ne D3 SERIES = Product description

Reference Ne

—
—|I

—lw|n]—

CMSK.24.3

Sampa

Spring Big L
Washer - Big
Washer
Spring Housing
Cheeft
2185
Avtech

= 0000

8  www.meyerbrakesystem.com brake sysiem



Product Ne Name: Spring Kit - R By car: Qty.

510774 OEM Ne D3 SERIES

Product description
(]
- Spring Big R 1

S Se

Product Ne Name: Spring Kit - L By car: Qty.

Spring Small L 1

Sampa
Cheeft
2107

Avtech

510773 OEM Ne D3 SERIES ' Product description
T Spring Small R 1
Sampa

Cheeft

2106
Avtech

Product Ne Name: Caliper Gasket Set By car: MAN 81.50802.6007- 81.50822.6007 Qty.
= - DAF 1522063 RABA 650459 -ZF 0501 208

l l l lMSX],QSX]émm 810- 0501 209 883 - EVOBUS 82853884410 -

T

DENNIS 6535631 - 65507910

CMSK.6 Product description

Sampa M8x1,25x40 mm Dust Cover Cap 1
Caliper Bolt 4

S Caliper Bolt 2

2098

Avtech ——

MO105

Product Ne Name: Caliper Gasket Set By car: MAN 81.50822.0003 - MB

510766 OEM No 68321272 - 68320912 SRRy 0004230062 - ZF 0501 314 1090 - RABA

746871

1

Product description

Caliper Brake Lining Plate 1

Sampa
Cheeft
2187
Avtech
MO0152

brake system www.meyerbrakesystem.com &5



Product Ne Name: Adjusting Gear Big R By car: Qty.

500059 OEM Ne D3 SERIES ' Product description

Adjusting Gear Big R 1

T

CMSK.25.4
Sampa
095.839
Cheeft
2097
Avtech
MO061

Product Ne Name: Adjusting Gear Big L By car: Qty.

500058 OEM Ne D3 SERIES  Product description

Adjusting Gear Big L 1

1T

CMSK.24.4
Sampa
096.558
Cheeft
2096
Avtech
M0052

Product Ne Name: Ball Bearing Set By car: Qty.

500072 OEM Ne D3 SERIES ~ Product description

Reference Ne Ball 22

T Bearing Housing 2

Sampa

Cheeft

Avtech

Product Ne Name: Roller Bearing By car: Qty.

500057 OEM Ne D3 SERIES ~ Product description

Reference Ne Roller Bearing 1

T

Sampa

Cheeft

Avtech

3  www.meyerbrakesystem.com brake sysiem



Product Ne Name: Adjusting Gear Small By car:

510772 OEM Ne

Reference Ne

1

Sampa
Cheeft
2100

Avtech

D3 SERIES
Product description

Qty.

Adjusting Gear Small

Product Ne
512108 OEM Ne 68320133
1T

CMSK24.6

Sampa

Cheeft
2103
Avtech
M0054

D3 SERIES ' Product description

Qty.

Shim

Product Ne Name: Caliper Carrier

532036 OEM Ne 68323539

Reference Ne

T

Sampa
Cheeft
2315

Avtech

349 mm

263,50 mm

217 mm

By car:
VOLVO C DUCO ' Product description

Qty.

Caliper Carrier

Product Ne Name: Caliper Carrier

532037 OEM Ne BDA443

Reference Ne
1T

Sampa
Cheeft
2316

Avtech

By car:
MB 403 BUS = Product description

Qty.

Caliper Carrier

brake system

www.meyerbrakesystem.com



Product Ne Name: Caliper Carrier By car: Qty.

532041 OEM Ne 68323673 - 68323675 - 68323676 RENAULT 420 | Product description
350,50mm Caliper Carrier 1
T k
Sampa
Cheeft
2320
Avtech
369 mm
532042 OEM Ne MCK1185 DX195 SERIES ' Product description

Reference Ne Caliper Carrier ]
T
CMSK.21

Sampa

Cheeft

Avtech

Product Ne Name: Caliper Carrier By car: Qty.

532043 OEM Ne 68322778 VOLVO D DUCO = Product description

T

Cheeft
Cheeft
2319

Avtech

Product Ne Name: Caliper Carrier By car: Qty.

532044 OEM Ne MCK1252 D3 SERIES  Product description

T Caliper Bolt 1
i Caliper Bolt 1

Sampa

Cheeft

2323

Avtech

8 www.meyerbrakesystem.com brake sysiem



Product Ne Name: Caliper Carrier By car: Qty.

532045 OEM Ne MCK1322 - MCK1297 VOLVO / RENAULT 440 = Product description
Caliper Carrier ]
T Caliper Pin 2
Pin Bolt 2
i Pin Bolt 1
Sampa
Cheeft
2321
Avtech
Product Ne Name: Caliper Leveller Kit By car: Qty.
532047 OEM Ne MCK1322 - MCK1297 D3 SERIES ' Product description
Caliper Carrier ]
i Caliper Pin %
Pin Bolt 2
) Pin Bolt 1
Sampa
Cheeft
2321
Avtech

brake system www.meyerbrakesystem.com )



e

5 }’3:5(

-
§

orake system

-



